
Worksheet on Barrier Functions: Example 1 
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1. Transform the problem into a barrier function form: 
 
  
        
 
        

 
 
 

 
 
 
 
 
 
2. Verify the optimal barrier function solution at one of the follow values 
of the barrier term: =1 =2 =5 =10. 
 
    
 
 
 
 
 

min
௫∈ோ೙

݂ሺݔሻ

.ݏ .ݐ ܿሺݔሻ ൌ 0
	 ݔ ൒ 0

 
݉݅݊
௫∈ோ೙

݂ሺݔሻ െ ௜ሻݔ෍݈݊ሺߤ
௡

௜ୀଵ

.ݏ .ݐ ܿሺݔሻ ൌ 0

 

0 0.5 1 1.5 2 2.5 3 3.5 4 4.5 5
-20

-10

0

10

20

30

40

Dependent Variable (x)

A
ug

m
en

te
d 

O
bj

ec
tiv

e 
F

un
ct

io
n

 

 

Unconstrained

=1

=2

=5

=10


